1/2" Spacer X6

Bend Edge
14" @ 160° . . |
x\
\\\ o o ©
. ° o
101049/ 101050
10 6 |1/2"Long Zinc Spacer - 3/4" OD x 3/8" ID
9 6 |8x1.25 x 40 Hex Flange Bolt - Zinc
8 5 [#10-24 - Nylock Flange Nut - SS
7 5 [#10-24 x 1/2" Flat Head Machine Screw - SS
6 8 [#10x 1-1/4" - Phillips Flat Head Self Driling Screw - SS
5 60 |#10x 3/4" - Phillips Flat Head Self Drilling Screw - SS 0.238
4 | 109009 1 [Nissan NV Step - ATB
3 | 101050 1 [Nissan NV Floor - Center Panel - ATB
2 | 101051 1 [Nissan NV Floor - Front Panel - ATB
1 101049 1 [Nissan NV Floor - Rear Panel - ATB
# | PART NO. |QTY. DESCRIPTION WEIGHT

7
10-24x 1/2"
Flat Head Screw
Description
Nissan NV Flooring w/Step - ATB
Rev. Weight Material Item No.
- 77.88 Lbs. Alumn., 100017
PROPRIETARY AND CONFIDENTIAL | SIZE ' Date
R SN 9/9/2016
J&M TRUCK BODIES. ANY <
7541 Chapman Ave Unit B FERBITRUREAT 8 Aauiore A Drawn By. J. Chauvin
Garden Grove, Ca 92841 J&M TRUCK BODIES IS PROHIBITED. SCALE: 1:14

2

1



